p. 39, Eq. (2.113)

i(t) =% 1 [tan(e) cos(at) +sin(awt)] =
1
i (oRC)? (2.113)
= %cos( ){M-ﬂin(w’[)} = E[cos(cot)sin(go) +sin(at) cos(e) ]
cos(e) R
p. 40. Eq. (2.118)
i(t)= %%[cos(a)t)—tan(go)sin (at)]=
1+
(wRC)’ (2.118)
= 1 cos (wt)cos(wt)—sin(p)sin (wt) '
Rq, 1 cos(o)
(wRC)
p. 46, Eq. (2.135)-(2.136)
5. Rl Rl (1— JC()R]_C]_)
z =R - = =
(Ja)) o 1+ Jlecl o 1+(a)R1C1)2 (2 135)
. ;i '
0 1+(0)R1C1)2 1+(0)R1C1)2
5 Ry
Re| Z =Ry+——
|: (Ja)):| 0 +1+(0)R1C1)2 2156
) .
Im[i(jw)] - _Lclz
1+(a)R1C1)

p. 50, Eq. (2.140)

|Z|= /R2+ ! >
(<) (2.140)
(5 ) )=onl c
@ =atan| — |=atan| -—— |=—atan| ——
Z' ®wRC @RC



p. 92, Eq. (4.39).

co(0)=1—.L and CFe(0)=.L
p. 92, Eq. (4.41)
Zw=2Wo+2WR= il ( . " 1 J
: " n?F2 fjo |\ JDoCo(0) |/DRCR(0) (4.41)
Lo 2o
Jja) j o

p. 105, Eq. (4.76)

Iimw_)o(ﬁt)z Rs + Ret Lol

JPo (4.76)

p. 113, Eq. (4.106)

RT 1 =

W="572 j B
n2F2,[Dr C (0) ja)coth( /éwroj_«/DR
R

o

Z

o 1 _ (4.106)

Jj_wco’[h jfwro —E.R
Dr NI

p. 141, Eq. (5.71)

p. 142, Eq. (5.80)



P=-F (aﬂ] ﬁ+[6i] éB+(6i] Oc (5.80)
on 8.6c 0B n.6c 9% 7.0
p. 150, Eq. (6.19), (6.20), (6.21) (errors in signs)
fon)_1T (on \6s [ o |CaO [ 0 |Cc(0)
on) F#i \obg )i \oCa) 7 Cc ) 7
0=-21, [jobs 2@
2F 7 ) (6.19)
17 f Cc(0)
= —— D ———
oF 5 VIePe T
(). r o082 )06 (08 \CA) (08 |Cc(O)
on “h \eeg) i \eCa) 7 \eCc) 7
| [ 1 oy oy a | L
on F 00 aChp oCc 1
0}
0 L 0 Ji@Dp 0 =
| 2F 7
=l 1 &0 (6.20)
0 o 0 0 fjwDc CN()
gl
oy 0 Brj, i 9 |IEM0)
on | L 0 aChp aCc P
1 o on on
F o0g oCp oCc
1 .
- 0 «“CODA 0
A 21F (6.21)
o M, M o
o0g ” aCp aCc

p. 153, Eq. (6.22), (6.23), (6.24)




T = JBaDc {rw%(j@%[
on

=3y (jo)’ +ay(jo)

p. 152, Eq. (6.27)

2/DaDCT (i)
{\/E o \/— o j .
on

a6(1@)

aro on
6C 00

8|’0 8r1
+JD
06 0Cp,

~2,/DADc

2F

by
by

(jw){ﬁj—

\/— 8r0 arl
oCc 06
_ o o
06 6Cc

1 . . . .
== [bs (1) +b3(10)*% by (o) 4y (jo) |

a | . 2
34](Jw) '

(6.22)

(6.23)

3/2

(6.24)

(ja))l/Z

by

4

(ja))3/2 )

. \1/2
2, 1)

(6.27)



p. 152, Eq. (6.28)
N 1 1 o
Zg =R+ ————+Zw =Ry + +—

1 joCp +Ri Vo

joCp+—
R
P P (6.28)
(j@)RyCpo+Rp(j0)? +o
=R+ ——Tor
(jo) [(Ja))RpCp +1J
p. 153, Eq. (6.29)
Rct:ib_A';Rp:i b_2_b_4 : pZZFE;,
2F ay 2F a b_]_ biz_bi
a, a, (6.29)
2F as ay
p. 157, Fig. 7.1, there is: “continuous line Langmuir isotherm, g =1"
should be: “continuous line Langmuir isotherm, g = 0”
Corrected figure:
100
' 0.002
. e
‘e 104 ) 2
Es o 0.001
o
14
: ; . 0.000 . .
-0.4 -0.2 0.0 0.2 0.4 -0.4 0.4
nlV
p. 160, Egs. (7.19)-(7.20)
kg =kiT2
(7.21)

0 2 .*
k_3 = k_3FOOaH2

p. 161, Eq. (7.23)



p. 161, Eq. (7.27)

p. 161, Eq, (7.30)

p. 193, Eq. (8.28)

p. 205, 1.8

Z, =1/ (jaCyqj 2711

p. 207,
Fig. 9.3, legend.
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(7.23)

(7.27)

(7.30)

(8.28)

For corrected version of the chapter see: A. Lasia, Impedance of porous electrodes in the presence

of electroactive

species, J. Electroanal. Chem.,

https://doi.org/10.1016/j.jelechem.2023.117280.

p. 235, Eq. (9.70)

1
Yo = (2711) [ Ydz

117280,

(9.70)


https://doi.org/10.1016/j.jelechem.2023.117280

p. 236, Eq. (9.71)

( P j(l_E}{a—(l—a)P}(l_Ejtanh«/g
1+P K 1+P K) JB
Vi tot = 2rrlyu ]+ — jEta”h*/E (9.71)
1+PJK JK
) fa- (1 a)P}( j«/_tanh(«/_) \/Etanh(«/g)
1+P K-B
It can be also represented in an alternative simpler form as:
G R e s
. 1+P K 1+P K-B) B
’ (PJB( PjBtanh\/E
+ | —— |—=+| a-—
1+P /K 1+P JK-B| JK
p. 236, EQ. (9.72) surface area is missing:
P tanh /B |
. 1+P B
Vi oy (@ — 0) = — = (27rl)u VB (9.72)
’ Ry (a—(l—a)Pj tanh«/_ 1
H | = tanh J_
1+ P 2 2B
which might be simplified into:
; u P 1 nh(«/g)
Yiior (@ —0)=(27rl)=|| a — +| a+
f,tot( ) ( )2{( 1+P]cosh2(«/§) [ 1+pj \/g
p. 236, Eq. 9.73)
5 1 P (a-(-a&)P)tanhy/B
Y. =—=(2zrl)u + 9,73
o> 0) = = 2l L+P (=B } 079

p. 236, Eq. (9.74)



YAf,tot (@ — ) —YAf’tot (0 —0)=

P (1_tanh@]{a—(l—a)Pjtanh\/E ]

1+P JB 1+P JB (9.74)
(27rhu \/_
a—-(1-a)P tanh 11
_+( P j{ o > 2tanh «/_)
p. 237, Eq. (9.76)
5 P 1(1-P
Yitot = (271U LJF 5 +§(1+ pﬂ =0.5(2zrl)u
p. 237, Eq. (9.77)
5 2zrHua
Yitot (@ —> 0) =—F—=—
VB (9.77)

@rrhua

B

? 1
Yitot (@ — 0) = >

p. 240, Eq. (9.87)

(9.87)

thOt—Uz(l——)+U3( K) +u tan\;‘E\/E
( )\/_tanh(\/f) VB tanh(VB)

K-B

+U3

or in a simpler form:

uz [1_Ej++ug (l— B jtanh VB
K

K-B
Yf,tot =27rl \/g
( B B jtanh\/f

K PK-8) K
p. 338
There is:
Hg|Hg2S04|S02*
Should be:

Hg|Hg2S04|SO4*



